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Instruction :

(i) There are 25 questions in all. All questions are compulsory.
(ii) Question No. 1 to 14 are of 2 marks each, to be answered in about 40 words.
(iii) Question No. 15 to 21 are of 4 marks each, to be answered in about 100 words.
(iv) Question No. 22 to 24 are of 6 marks each, to be answered in about 250 words.

(v) Question No. 25 is based on passage. Subquestions asked on 1t are to be answered based on

the given passage. Fach of the three subquestions is of 2 marks, to be answered in about 40
words.

(vi) Answers should be precise and 1o the point.

(vii) Start from the first question and proceed : :
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. ¥ 9R9R T4 fawRa aRar & o1 smR g ? 2

‘What is the difference between nuclear family and joint family 2

2. 3w B @7 @l awdd ® 7 2
What is the meaning of ‘Invisible Hand’ ?

3.  WHeIdd UsdE o1 Bl 8 7 2
What is community identity ? ]

4. AFIR® GHNT #®&T 8 7 2
What is ‘Civil Society’ ?

5. CT 9N HAR @ RI9Er f5Ee gwr o 18 &R e sevn g @ g 2 2

Who founded Satya Shodhak Society” and what was the object behind it ?
6. ImIfFdiEr gv widna feueft iRk | 2
Write a short note on *Modernization’. '

7. ¥R HUE IEHe @ R BT M e GHe—gyR STRIeE! 6l Seod I | 2

Mention the main social reform movements conducted by Sir Saiyved Ahmad Khan.

8. ddpad R E ? W BT | 2
What is democracy ? Clarify.
9. 'AuTexl &1 §UN fhY dEd € ? W B | 2

What is ‘circulation of labour® ? Clarify.

10. ‘grer gidl | & Rl oM @ uRvms adEy | 2

What are the consequences of ‘out sourcing’ ?

11. SENER & WK S X ywg forfRay | 2

Write the effect of liberalisation on Indian industry.

12. 9 59 uor orRl & fordr s ey o=ar € ? 2

How machines create problem for labour ?

13, IY U @7 & 7 NG @ T8, oY WHY O dol dlel 91T 3RT &1 AW fefRad | 2
What is “Sope Opera’ 7 Write the name of the first and the longest ‘Sope Opera’ of India.
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23,

ArfoTs afads o |EfoTe Sr<iaT § 91 N & 7 2

What is the difference between *Social Change’ and ‘Social Movement® ?

SUMAREE & RO i awRn # agr-a uidds A ? 4
What were the changes in caste system due to colonialism 7
gofiare @Y U AHIIe adel @ BY H [@dedr Hif | 4

Discuss the capitalism as a social system.

mﬁﬁﬁmﬁwaﬁ%?mﬁﬁwﬁm@%ﬂ&ﬁmwﬁ? 4
What is cultural diversity ? Why India is considered as a diversified country 7
R g yede aimdd B = 7 € | Rdeer #iftg | 4

“Interest groups’ are the indispensable part of functioning democracy. Discuss.

(S e B 7 M e 2 G 1 1 5 e e =201 e s e P BB 2 | 1) 4

How has liberalization affected the Indian agriculture and the rural society 7 Discuss.

arg Hifear 5 o=a € ? 95 59N 2% ohiaw @ (&9 verR wifda &= W@ & 7

IS | 4
What is ‘Mass Media’ ? How is it affecting our daily life ? Describe.
ARA H TS SRl & WE $Rb qarsd | 4

Explain the main reasons of tribal movements in India.
S & ? W | 6

Describe the theory of Demographic transition. Why transition period is associated with ‘population
explosion’ ? Clarify.

32041 (OR)

g X AR O &% B 1 A 2 7 W P fb o= <) ¥ fREe siengd i i
& O 3Tt B, Wafeh Fog <% ol | fRet 2

What is the meaning of death rate and birth rate ? Clarify why the birth rate decreases relatively
slowly whereas death rate falls rapidly.

SRYLIAT R & 7 Inegear Fanvr &g wium ¥ e midus 53w € 2 6
What is untouchability ? What provisions are made in the Constitution to eradicate untouchability 7
34T (OR)

raerHar foradT TRIfRe & wae & amEifre oY ) fRawer S|

‘Disability’ is as much as physical so much social also. Discuss.
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24. SRR fbe dEd € ? YHSHlGd sefdven & Y devil & quie A | 6

What is globalization ? Describe the main characteristics of globalized economie system.
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AT AR evaar & &F 3 g agayyl 99 § qHeda wur g ¥ 5 ueR
spifcrerrl aRad & € ? wwsmsd |

How important advances in field of technology and telecommunications has led to revolutionary
changes in global communication ? Elucidate.

25. [e=fafeae Tene @ ey ey ek 3Hd A fRU v el @1 s difte —
amue! meed B ¥El e fb wufgwme diR weare & g 9o yeidite
AffeR & 99 fAedaris 9= 2 | 899 o1 & % sufteeae &1 9aae, g e
I oid ARG H SHICT I 9 & 9idid 39® fausia wreeare &1 fAder of 6 wRa &«
7 T AT SUiEEl |HGT @ AN B ¥R BN BT S DR B | YRS Irare] S
9 39 IR B 9El 99T 9N GEsT | ST arl | =won &) 4 i wrfiear o9
sRIg e € 8liv 9 o ud anféfe wd=mr & forw o |

(@) Sufidemarg 5 wea & 7 2
(@) wregarg w7 3
(@) fre wegardt war 7 wE1 & wrEEar s9er TRk IReR & 7 aopeli et o

3TV Tegarg! Saisti @ A 1 ferlay | 2

Read the following passage carefully and answer the questions that follow —

It must have struck you that the practice of colonialism and the principle of nationalism and
democratic rights are contradictory. For colonial rule implied foreign rule such as British rule over
India. Nationalism implied that the people of India or of any colonised society have an equal right to
be sovereign. Indian nationalist leaders were quick to grasp this irony. They declared that freedom or

swaraj was their birth-right and fought for both political and economic freedom.
(@) What is colonialism ?
(b) What is Nationalism ?

(c) Name the nationalist leader who told that freedom is their birth right. Write any two other
names of the nationalist leaders of that time.
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